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1
2 public class PreStars
3
4 public static void main(String[] args)
5 {
6 for (inti=1; i<=5; i++) {
7 for (int j=1; j<=i; j++)
8 System.out.print("™*");
9 System.out.printin();
10 }
11 }
12 }
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public class PreStars {
public static void main(String[] args) {
/I TODO Auto-generated method stub
for(int i=1;i<=10;i++) {
for(int j=1;j<=10;j++)
if(j>=i)
System.out.print("*");
else
System.out.print(" );
System.out.printin();
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public class Reverse

{

public static String reverse(int[] arr, int X)

{
}

2
3
4
5
6
7
8
9 public static void main(String[] args)
10 {
11 int[] intArr={1, 2, 3,4,5,6,7,8,9, 10};
12 String results = reverse(intArr, 2);
13 System.out.printin(results);
14 System.out.printIn(reverse(intArr, 7));
15 }
16 }
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public class Reverse {
public static String reverse(int[] arr, int x) {

if(x<=arr.length-1) {
return reverse(arr, x+1)+""+arr[x];

Yelse {

return "';
}
}

public static void main(String[] args) {
int[] intArr = {1,2,3,4,5,6,7,8,9,10};
String results=reverse(intArr, 2);
System.out.printin(results);
System.out.printin(reverse(intArr, 7));
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public static String reverse_for(int[] arr, int X) {
String str="";
for(int i=arr.length-1; i>=x; i--) {
str+=arr[i]+" "

}
return str;
}
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count=1
current = list[0]
foriin list:
if i > current:
list[count] =i
count +=1
current =i
last = len(list)
if last > count:
for i in range(count, last):
list.pop()
print(“count =", count)
print("list =", list)
shEm T A SR A BIPythonE i - 40 EERTEN - 55 TR HAVE NG N &R EE - DURIRE S 0 RAATE

M1 - iEthiEEPython & 25 AR R A e Sk -

ERm | (5 - 5 EEAEGTHMEEER) S0 0 SFIRIREE - H104-187 -

H::paddipags
count=>5
list=[2, 3,7, 9, 10]
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(a+bi)+(c+di) = (a+c)+(b+d)i
(a+bi)—(c+di) = (a—c)+(b—d)i
(a+bi)*(c+di) = (ac—bd)+(ad+hc)i
(a+bi)/(c+di) ((ac+bd)/(c*+d2))+((bc—ad)/(c*+d?))
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“X+Yy=(3.0,3.0)"
(=) ** Complex.java ¥ # 5
public Complex division (Complex right)
w g F AL A2 Sl h Lo A B 5 Complex ¥ right e

wE
(=)
(<)

—-3--




BEETEC A =507

(=) f1* division() > % ComplexTestjava * & I y=(2, 2)shig|fic (4% y*y=1 RIFL Y’ 5 y 0if
#) o EAE NG R RALL .

(2 ) #3 public String standardForm() 12 & 41 4F $cen ¥ — % 77 ;% atbi - ;2 & 0.0+bi £ £ 5757 % bi;
a+t0.0i & £+ 5 a;at+tl0i & £#77 5 atio

2 public class Complex
3 {
4 private double real;
5 private double imaginary;
6
7 public Complex()
8 {
9 this(0.0, 0.0);
10 }
11 public Complex(double r, double i)
12 {
13 real =r;
14 imaginary =i,
15 }
16 public Complex add(Complex right)
17 {
18 return new Complex(real + right.real,
19 imaginary + right.imaginary);
20 }
21 public Complex subtract(Complex right)
22 {
23 return new Complex(real - right.real,
24 imaginary - right.imaginary);
25 }
26 public String toString()
27 {
28 return String.format(*(%.1f, %.1f)", real, imaginary);

}
30 }//  endclass Complex

2 public class ComplexTest

3 {

4 public static void main(String[] args)

5 {

6 Complex x = new Complex(1, 1);

7 Complex y = new Complex(2, 2);

8

9 System.out.printf(*’x = %s%n", x.toString());
10 System.out.printf(*'y = %s%n", y);

11 }
12}/ endclass ComplexTest
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x=(1.0, 1.0)
y=(2.0, 2.0)
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public class ComplexTest {
public static void main(String[] args) {
Complex x = new Complex(1,1);
Complex y = new Complex(2,2);

System.out.printf("x=%s%n" x.toString());
System.out.printf("y=%s%n",y);

System.out.printin("x+y=" + x.add(y));

}
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public Complex division(Complex right) {

return new
Complex((real*right.real+imaginary*right.imaginary)/(right.real*right.real+right.imaginary*right.imaginary),
(imaginary*right.real-real*right.imaginary)/(right.real*right.real+right.imaginary*right.imaginary));

}

(7)
Complex z = new Complex(1, 0);
System.out.printin("y": " + z.division(y));

(#1)
public String standardForm() {
String str=""";

if(real!=0.0) {
if(Math.floor(real)==Math.ceil(real))
str+=(int)real;
else
str+=real;

}

if(imaginary!=0.0){
if(Math.floor(imaginary)==Math.ceil(imaginary))
str+=(int)imaginary+"i";
else
str+=imaginary+"i";
}

return str;
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